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d\@) A bon so thap phan, thir tu cac phép toan c6 dau ngoac

Tén: Ngay thang: _ Diém:_
122, 7—6,1)+4 = (10+-2+3)x6,9=

(10+5-4,3)x3,4 = (8+4+4,8)x5,7=

9+3-4,7)x6= B30+6—5,3)x4,8=

6(3,9-3,5)+2= 5+6,72,9+3,5)=

(2,2+3)x6,2—6,1 = 5,8+3,83,3+5,4)=
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\/ D . A A A A ’ . r r r A -
d@ A bon so thap phan, thir tu cac phép toan c6 dau ngoac

Tén: Ngay thang: _ Diém:_
122, 7-6,1)+4=-10.2 (10+2+3)x6,9=155.2
(10+5—-4,3)x3,4=-7.82 (8+4+4,8)x5,7=38.76
9+3-4,7)x6=-10.2 B30+6—-5,3)x4,8=—-144
6(3,9-3,5)+2=1.2 5+6,7(2,9+3,5)=47.88
(2,2+3)x6,2—6,1 =26.14 5,8+3,83,3+5,4)=38.86
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